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MMAXST

ENDE

Begrenzung der Lohnsteuer auf 
den Quellensteuerhöchstsatz nach 
den DBA 

STG = LSTLZZ + 
SOLZLZZ + STS + 

SOLZS

LAND = 2

LAND = 1 JaNein

BRUTTO = VBEZ 
+ VBS

STDBA = 
BRUTTO * 10 / 

100

JaNein

STDBA = 
BRUTTO * 15 / 

100

STDBA < STG Ja

Nein
ST1 = STG – STDBA

SOLZS < ST1Nein Ja

ST1 = ST1 – SOLZS

SOLZS = 0

SOLZLZZ < ST1Nein Ja

ST1 = ST1 – SOLZLZZ

SOLZLZZ = 0

STS < ST1Nein Ja

ST1 = ST1 – STS

STS = 0

LSTLZZ = 
LSTLZZ – ST1

STS = STS – ST1

SOLZLZZ = 
SOLZLZZ – ST1

SOLZS = SOLZS 
– ST1

VJAHR < 2030 Ja

STDBA = 
BRUTTO * 5 / 

100

Nein

STDBA = 
BRUTTO * 10 / 

100

 


